Business English Space

Exercise 3
« Draw lines to complete each sentence 1-5 with the best
ending, A-E.

« Use each ending once only. You’ll need to think in particular
about the meanings of the first word in each ending.

Sales of company products

1. Domestic sales are stable,

2. Sales in Japan are expected torise

3. Exports to the USA have increased,

4. We are plannng a new range of baby clothing,
5. Production will be reduced by 5% in September

Which word from A-E could be replaced by
6. whereas? ............ 7. because or since? ...........
8.if...dont? ............

A. if we increase our advertising there.
B. unless orders for our products rise.
C. while expoerts have risen slightly.

D. as sales of the existing range are beginning to
fall.

E. although the weakness of the dollar has made
them more expensive.
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